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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 6th Semester Examination, 2022

DSE1/2/3-P2-EcoNomIcs
Time Allotted: 2 Hours Full Marks: 60

The figuresin the margin indicate full marks.

The question paper contains paper DSE-2A and DSE-2B.
The candidates are required to answer any one from two cour ses,
Candidates should mention it clearly on the Answer Book.

DSE-2A
INDIAN ECONOMY-I |

GROUP-A | [enl-% | ae-®

1 Answer any four questions from the following: 3x4 =12

oo @-F 51l etas T wies
F1 ARACT UeAESH! IR I

(@) What is social security?
IS {7l qeTcs (& Q@RI ¢
FANTS GREAT WD & BT 2

(b) Define VRR and SLR.
VRR ¥R SLR-G9 e 7S |
VRR 31+ SLR-&1 gR¥mT fage9 |

(c) What do you mean by industrial dispute?
a1 ity FeTce & @RI 2
e faare ¥=Tel & gfseo ?

(d) Define cottage industry.
FOI-MICsR FResl ie |
R SENTE TR Rge |

(e) What is Bank Rate?
T {6937 e WS |
&l T A-Dl B &I 7

(f) What do you mean by social security measures?
IS fi=iel #ifsiel ge1ce & @RI 2
FAMTD YRETT YIS HTel & g3 ?
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GROUP-B / Ret-4/ wg-@

Answer any four questions from the following 6x4 =24
FafeTie @-@@ 51af5 emia Teawie
F1 ARACT UeESH! IR (AT

2. Discuss the importance of small scale industries in the economic development of
India.

OI0ST TGS THIC FY '@ FOIF I3 ¥ SO 41
ARADT 3N [ABTAAT g IBRTHT Heed al T |

3. Describe the functions of the Reserve Bank of India.
SR fEe IeEa SR P Fh)
IRadT RS Sfda! fhagsal aoi= T8N |

4, What are the causes of industrial disputes in India?
oIt i R PR SncEs 341
HRTHT 3T fdaresdT HRIES & & g ?

5. What are the main features of Indian capital market?
SRS eI G e (JfREesfer i 9
IR ol qoiR&T I faRivdaes & & g ?

6. Examine the main problems faced by the small scale industrial units.

SFERICEE FOO (T @R el A FYA 21 O AT WA 4|

Y TN UhIgese AT T U4 I FARIESd] Sird T84 |

7. What are the characteristics of trade unionsin India?
ored Aifdey mardaelEE IRErei @
ARTHAT $IAD ATST8odh] [JLTAES & & T °

GROUP-C / faetal-at / 3gg-71

Answer any two questions from the following 12x2 =24
e @-m 715 2ie Ted we
F1 ggdCl UeEed! IR Qg
8. Discuss the various social security measures of India.
Ot AIe Maeeld Afsisef S <1
ARAD! A= ArIfoTe gRET SUIss @@l el |

0. Discuss the remedies taken by the Indian Government to overcome the industrial
disputes.
-y fiaees oo sige i FdiRe smfoel s 51
3T faare FHEM T AR TRORGRT AATSTHT YIS i el |

10. Explain the monetary policy of RBI.

sige e itad S NS A F41
RIS BT Aifad T T THEN |
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11.  Write an essay on the Small Scale Industries in India

OIOR FY RCsR T &9 (774
ARTHT oY STRTRT U8l e oRefaiy |

DSE-2B
PuBLIC FINANCE

GROUP-A | Rei-3 | 9 g-&

1 Answer any four questions from the following:

fesfere @-coim b1afe elves Teg wies

H IRICT YeIE%d] SR fager:
(8) What istax?

T4 IO & @R 9

IR IAD! D BT ?
(b) Define internal public debt.

Sreree TP el T [ Q@RI 9

ARG TSI~ FoTh! TR fager |
(c) Define benefit approach of taxation.

TR R O0gA TS RIG |

HRIETDHT AT G TRANT fager |
(d) What do you mean by burden of Public debt?

FEFI A QRN o700 T = 9
AT FEOThT IR A=l & s ?

(e) What is fiscal federalism?
TEAIGR 9 7% & 9
foxira <efraar e @ & ?
(f) What are indirect taxes? Give two examples of indirect taxes.
s Fael [ & o uft Snizad wis)
Y PR AD] D B ? I[UIT PP gdcl IATERVED Qe |

GROUP-B / Ret-4/ wg-@

Answer any four questions from the following

TS (- b1A% etae T me
Hl IRACT YIIE%dh] SR (AT

2. Write a short note on India’ s fiscal federalism.
TIACST TEAIGT F9 I B9 @5 e Bt @74
IRa®! fa<ia defraareft srer feuh erege |
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3. Has internal debt any burden? Give reasons for your answer. 6
Sreyediel e IR SR 6 ¢ (O T AT Fiel (S |
@ IATARS FUTDI Gl R TB ? MMl ITRBT FFT HRT ST |

4, What are the characteristics of a good tax system? 6
ToR@ 9 JIEI (ARBy@fe @14
Hl A PR YUITA TR [IRITATES & & T 7

5. Explain the ability to pay principle of taxation. 6

9 &l oG I 1
BRI YhI D! fafe =rer Ty |

6. What are the merits and demerits of direct taxes? 6
2o (AR TR 8 PRI =74
TgeT PHRDT I0T AT QWSS & B B ?

7. What are the objectives of public debt? 6
FRPIA AR Srelyesfet &7 )

TSI ® RUTHT SeITES & B B ?

GROUP-C / fastal-at / 3qg-71

Answer any two questions from the following 12x2 = 24
faferiie - 7f6 et e wie
F1 geaCl UeEed! IR Qg
8. Discuss the benefit theory of taxation. 12
PR <] O S 4|
IREIEDT A RIGT Bl THEr |
0. Give an account of trends of indirect taxesin India 12

SIS AT FCI LRS! S5 4|
HRTH] TUIE HRDbI UGl faavor fager |

10. Explain the current issues of India’ s tax system. 12

SITe 34 I Ao [Reaefls i w41
YRADI PR YUITAID] aid JEee ARAT TH8 19 |

11.(a) Do you think that the internally held public debt imposes burden on the 6+6
community?
i 6 G 3 STorediel Aol TR Soid @RI BP9
& qURD! [IIRAT MRS SUAT GRUT TRYD! ATEASdh Fel AHIRAT AR
oq ?

(b) Discuss how far the burden of public debt can be shifted to future generation.
YT (@I TSB! 27| &GN EIIS FC6 O S F41

|rEsied What are the objectives of public debt BT YR 41T YT $a RT
I afes, a9 IR g4t THEN |
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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 6th Semester Examination, 2022

GE1-P2-EcoNOMICS

Time Allotted: 2 Hours Full Marks: 60

The figuresin the margin indicate full marks.

The question paper contains paper GE-2A, GE-2B and GE-2C.
The candidates arerequired to answer any one from three cour ses.
Candidates should mention it clearly on the Answer Book.
GE-2A
MACRO ECONOMICS

GROUP-A / [onl-% | ae-®

1 Answer any four questions: 3x4 =12
-1 B0 &lvea e mies
H IRACT YeAE%vdh] SR (eI
(8) What isthe relation between GNP and NNP?

GNP 8 NNP-97 (&) 7= {9
GNP 21«1 NNPHTST & W& B ?

(b) What isdemand pull inflation?

pifenieiee JurFifs wce & @RI 2
ART URT ERWIfT 9T & &1 2
(c) What is liquidity trap?
SR T 00 ¢ @RI 9
TRITRT URAT 9-h! B & 7
(d) What istransfer earning?
BB A BICP T 2
RJTTANTT HHTS Y] & Bl 7
(e) What is the relation between marginal propensity to consume (mpc) and
autonomous investment multiplier?
e (ool e7erel € Fage R e g 71 [ 9
AHT=T ST YgiRT (mpc) AT W@ Faer qUrBHrsT & T B 7
(f) Why classical aggregate supply curve is considered as vertical straight line?

o7 Org ANMET @9 @A TFg @l I @ T 7 9
RATT F IMYfel NATeTs b SISl TRl Y@l Ao 2
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GROUP-B / Ret-4/ wg-@

Answer any four questions 6x4 = 24
@-F 5IF0 &THd Tea WS
F1 ARACT YeAESH! IR [Ageq
2. Discuss briefly the concept of circular flow of National Income. 6
AR JEIFIR ARNC2F QRN FRCHC! A T4
RIS IdT Afha YaTed! STEReT IR Hie =4l T |

3. Explain Say’ s law of market. 6
AR TARES (7-97 ©gl6 TG F41
A B IR A @R THEN |

4, Discuss characteristics of Keynesian consumption function. 6
FETAT (l9l SHFA @AEy et SEHal T
BID] SUANT Hel-Th] [IRTATES =ral T8 |

5. Discuss briefly the concept of inflationary gap with suitable diagram. 6
urRIfed TR Rells ez 3¢ 741
SUYh YQIIF Aled GERWBIfTP! SFRIAD] FTERCN =1 T84 |

6. Distinguish between Demand Pull and Cost Push inflation. 6
bifzwt oo @ 77 Jfaeirs J@rFifea g AN 4

AT URT @1 arTd URT GarewIfomrsT urRied T |

7. (@) Show that mpc + mps=1 3+3

e <45 mpc + mps=1
mpc + mps= 1 g% 9! SESIe 9 |

(b) If mpc = 0.75, then for a change in autonomous investment (Al) of Rs. 100 crore,
what will be the change in national income (AY)?
I mpc = 0.75 =, CUFCE TGS [ = 100 @I 6l Jiar 16051 Sre i oG
R sifaril 9% < 2
afe mpe = 0.75 9, 1\ W@ 9991 (Al) W1 Rs. 100 &R &1 gRad= ¥y,
ST Mg (AY) Hia uRacd g ?

GROUP-C / faetal-at / 3gg-71

Answer any two questions 12x2 =24
A-FIA 715 &tsiE Ted wis
F1 ggacl UTEvd! IR AN
8. (a) Briefly discuss Value Added Method of measuring national income. 6+6
ISR I #AfNCof 36T TS Aahofs FKCFC Sl T
R M AT I Sirs A FereAr == Ta9 |
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(b) What are the difficulties of measuring national income?
ST S Hfticer sryRiarefe & & 9
T 3T AT HISARES & & g1 7

0. Explain, how equilibrium output and employment are determined under classical 12
theory.

IR ©F SN I SO W € FoREW Wéiae afent [Rosme w41
IRATT RAGTTAT Fford IR 31 ISR Bl MR §98 IRaT a9 |

10. Critically discuss Liquidity Preference theory of Keynes. 12
(FEACR 9% 21w ©gH 2o F41
SHID] ARAAT ST RIFId FHIAATHD SUHT T T]a i |

11. Critically explain income census method of measuring national income. 12
QST SR AR S HAR 267 TGS [z 1)
RIS AT ATYADT AT T A FHIAATHS SYAT ARAT T804 |

GE-2B
INDIAN ECONOMY

GROUP-A | Rei-3 | 97 g-&

1 Answer any four questions from the following: 3x4 =12

oo @-F 51l elas T wies
Gl IRACT YeABwdh] IR (GBI

(&) What are components of money supply? 3
L TR Sotmiesfer 6 & 9
HaT 3MY[IDhT TCHeS & B 8 ?

(b) Why RBI isknown as ‘Lender of last resort’ of commercial banks. 3
RBI (& Jlffens i0aa (17 W Aol & 27 & 9
JARARIE o8 b qivsa wmges! Ffd *ifvdm Foem@ar v o ?

(c) Discuss any two social security measures adopted by the government of India. 3
SIS 9§20 @-(F g6 AEr fviiel 2= Srae 541
:é;ﬂwmwwﬂ TgU] IRYBT FHi ggdel AMIGD FRAT IUES IR o4l

il

(d) What do you mean by CRR? 3
CRR @109 & @Rl 9
CRR ¥=Tlal & g3 ?

(e) What do you mean by industrial disputes? 3
a1 Rcaiy Fetce I @Rl e

e faare ¥=1rel & gf3eo ?
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(f) What is variable reserve ratio? 3
ARG TN TN Sl fF 9
gRad! gRféra (& U “=ar @ &1 ?

GROUP-B / Ret-4/ wg-@

Answer any four questions from the following 6x4 = 24
Ffeies - 576 emiE Tea wie
Gl TRACT YeABwdh] IR (S8
2. What are the causes of industrial dispute in India? 6
wics i Rl Fireraf i ¢

HRTHT 3T fdaredT HRES & & g ?

3. Discuss the broad objectives of Indian planning. 6

OO AfRFEHIT Sy SEn F9

AR ATSTATD] BRIbAT IgeIeoDh] qRAT =al TJaid |

4. Discuss briefly, how RBI controls supply of credit in the country. 6
RB| eI e+ el @iaie ferael 63, G FREFC! Sesval F41
ARG o ST I AYfIcAls Hax R T8 9~ HRIHT Bahd
‘Iﬂg q |

5. Discuss various social security measures adopted in India. 6
oiaCe 921 R[few TifEs Mol 38 T FRCEFCH G F91
IRAHT T&T TRUST A= AT GRefTanT SuTIes @@l T4ai |

6. Examine the main problems faced by the small scale industrial units. 6
FUITo MER 2 TP Qb= 51

Y TN UhlResel AT T4 & AHRATES O T8N |

7. What are the main functions of RBI? 6
RBI-43 &g« Feafe i F 9
IRATSMSHT = fhAES & & T °
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GROUP-C / faetal-at / 3gg-71

Answer any two questions from the following

faferiie @-= 7f6 et e e
%1 gedcl UTAEvd] IR (GBI

8. Discuss briefly the achievements and failures of Five Year Plansin India.

TR AR AfRFE ATy € GLOT T v F

ARTHT YHauTg ATSTHTRT SUSH T X JAHAAES IR FIerH T =i T |

0. Distinguish between Small Scale and Cottage Industries. Discuss the role of
Cottage and Small Scale industries in India s economic development.

FUTG S Fo14 PICaR T o1 et 791 ©iared Siafes Saae 7 ¢ o1 Fiem

SR S 41

g 31 HER IENTESHY URfR e | IRAH! 3Nfde fabraar $eR

T SENTEod! GAGT el T |

10. Discuss the characteristic features of Indian Planning.
OI0oF ST #IFFFHIR 51 i S F1
IR e ArorraT faRmares a4l T9aN |

11.  Write short notes on: Bissl (+14¢ BT femol clegery;

(i) Industrial dispute in India (®ice Fe1 [Kix) R sfenfire faarg
(i) Open market operation. (CRIFTRIES FRI) Yool TR IRATA

GE-2C
PuBLIC FINANCE

GROUP-A / [enl-% | ae-®

1. Answer any four questions from the following:
efeIie Q- 51Efs et Tes nises
F1 ARACT UeAESH! IR I
(@) What do you mean by Public debt?
TIPS 4ol F&Ice F @R 9
AT T A=l & gfers ?

(b) What isthe main difference between external and internal public debt?

AR @ Sreresel SFPIN AR S I 2N 9
eI 3 JATARD AGGIDh UM Dl & H~ar & &l 7
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(c) Mention three examples of indirect tax.
AT FEF [OT0 SwiRgel TS |

Y PRBT AMICT IETERVET Iooid el |
(d) What is market failure?
e et 3 9
gIR fawerar 99T & & ?
(e) What do you mean by Externality?
Jifrre! w@ie [ @R 9
e AT & gfers ?
(f) Which type of good is known as Public good?
(I (R T TR 9 e 2 9
BRI UHRD! THIels AMdGI~Tdh 9 Al ?

GROUP-B / Jet-4/ wg-@
Answer any four questions from the following 6x4 =24

femferie @-iw 51af% e Teq wie
Gl TRACT YeAEwdh] IR (S8

2. Establish the relationship between Public good and Externality. 6
I T € AIfRFOR Wy FIF et 7411
ATt ¥ 3T aTE=IdT ATET T wRnfid TN |

3. To what extent existence of externality is responsible for market failure? 6
erid Lo T AfRFolR SR il Fob! Wi I T F9 9
IuiR fawerdra! Affa & gea™ qreadre! idd RTHaR B ?

4, Discuss characteristics of a good tax system. 6
I T FIICI TP @iz S 321
I PR YUTAID] [IRIYATES BABel Mo |

5. Briefly discuss the notion of Pareto efficiency. 6
ANCACH! 2me WHFeIF QR FRCFC SAEH] T4
URET SeTard! STaERON Hare T Fal THad |

6. Critically explain ‘ Ability to Pay’ principle of taxation. 6
39 iR ‘aRfeB § oo welba sicatsanTe s 4
BRIETADH] HHTH AT FAGIAd! ATAIATHD SUHAT AR T8l |
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7. Discuss some of the merits of indirect taxation. 6
AR FEF PRI HR S 1
ANITET HRPBT bl JIAES BAhd TaN |

GROUP-C / faetal-at / 3qg-71

Answer any two questions from the following 12x2 =24
faferiie - 7f6 et e wie
F1 ggacl UeEvd! IR AN
8. Critically discuss Benefit Principle of taxation. 12

T WIS ‘@RS welba [Resd <41
PRSI ™ G SMArHS SYAT i T84 |

9. Give some arguments for and against the direct and indirect tax system. 12
LT 8 AT 9 JIBL 70F ¢ [RACT P& mie)
TeT 3MfT 3Ue] PREedh] U&HT 3f fRIEHT oel daes Qe |

10. Does internal Public Debt create any burden on the community? Give reasons in 12
favour of your arguments.

SrereRiel R el s IACea Toi (@I Q@RI R FC 2 (IR Terwd T I mie)

D ARG Aol 0Tl FHIIAT AR GOl T8 ? U] dheod! (M |
PRUTED aﬂg T

11. Write anote on Fiscal Federalism in India. 12
SIACSA TEAIZT T2 FIOIGF B9 @5 T 1K1
IRaAT faxfr defrarrel feuoft oregeRg |

X
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UNIVERSITY' OF NORTH BENGAL
B.A./B.Sc. Programme 6th Semester Examination, 2022

SEC2-P2-EcoNOMICS
Time Allotted: 2 Hours Full Marks: 60

The figuresin the margin indicate full marks.

The question paper contains paper SEC-4A and SEC-4B.
The candidates are required to answer any one from two cour ses,
Candidates should mention it clearly on the Answer Book.

SEC-4A
INSURANCE M ARKET AND I TSPRODUCTS

GROUP-A | Rei9-3 | T g-&

1 Answer any four questions from the following: 3x4 =12
oo @-F 51l elas T wies
F1 ARACT UeAESH! IR (AT

(@) What isthe nature of insurance?
S il o 9
TP BT B B B ?

(b) What is Claim Settlement ratio?
Claim Settlement ratio 3510 & Q@R 9
ST LAY AU HD! & Bl ?

(c) What is arbitration and litigation?
ATl @ Tl @0 [ @R 9
HEIRAT 31 I WP & & ?

(d) What isthe most common car insurance?
SIS A v 9
FIHET AT BR §H1 & & °?

(e) Explainthe collective bearing of risk in insurance.
Tt i T2 T WA F1
ST SIRIHDT AHfed g8 ARAT THe |
(f) What islife insurance?
e i 5 9
Sitas |7 99hT & ' ?
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10.

6032

GROUP-B / Ret-4/ wg-@

Answer any four questions from the following 6x4 =24
Faferiee - o176 etss Tea wie
F1 ARACT UeAESH! IR [T
What are the types of insurance available in India? 6

Sice [feq 1A W SAEAD F11
HRTH U g BT UBRES & D T °

Write a short note on IRDA Act, 1999. 6
IRDA Act, 1999 5¢a e Bit 741
IRDA S| 1999 el Brer fewoll Tegev |

Discuss the advantage and disadvantage of privatization of insurance sector in 6
India.

ORACS I ERFNFACER TRl € SRt S F41
IRAAT AT 5T fofiavvoraT e ify RIfaues sawd THer |

Write a note on evolution of insurance. 6
Iz Ko 7w R Bt =72

JHTRT HF faamTaarell Tser fewell oegsy |

What is home insurance? What are not covered by home insurance? 2+4=6

oz 1 5 7 2 TS oI 1S e 2 41 2
T8 AT T B B 2 e A B B R T 2

What are the most important principles of insurance? 6
I wzrgs)f Sfos SiEma w1
TR HE@yul HETa8s & & 8 7

GROUP-C / faetal-at / 3qg-71

Answer any two thefollowing 12x2 =24
faferiie - 76 et e e
%1 gsacl UeAsvdl IR (GBI
Explain the importance of claim management in the insurance sector. 12

TS claim management-a3 ¥Fg SN 41

HRTHAT dHHT &5 GE] JATLAIFD] Ao qarSded |

Discuss the evolution of insurance market in India. 12
TIACS AN AE RIS FEEH F41

IRATAT AT goTRST F fawmramel aaf THerT |

Write anoteonthe LIC of India. 12
0 LIC == Il F1

IRADT LIC Areft user fewofl eregeN |
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11. What is Insurance Amendment Act, 2002? Discuss the Insurance Amendment

Act, 2002.

0 RN TS 2002 1 9 s FREAN o7 / A R0 SCAGA 341
T (e SrfSfe, 2002 WHd! @ B ? T (FRM) SrfSfaH, 2002 Areft

TAhel el |

SEC-4B
TOURISM M ANAGEMENT

GROUP-A | Rei-3 | 9 g-&

1. Answer any four questions from the following:

ke @@ 517f5 2ti7 Ted mise
F1 ARACT UeAESH! IR (I

(@) What is Health Tourism and Village Tourism?
Health Tourism @3 Village Tourism 31ce & @RI 9
WRed gded i UMW wied I\l & ' ?

(b) What is inbound and outbound tourism?
@R & AR 15w TS F @
i iy e wieq wHaT @ ' ?

(c) What is sustainable tourism?
ffoMa 7w [ 2
ST wied WDl @ Bl 7

(d) What is the difference between tourist and excursionist?
FRFPIETe gel @ 7I{Gea Ty 2Ny 6 9
e A FHIBRAE & H=dr g0 ?

(e) Write a short note on village tourism.
At AT ol ke Ragel wie |
I el vier feuef aegean |

(f) What is domestic tourism?
Z[eT #35e < 9
TR Wed T B B ?

GROUP-B / Ret-4/ wg-@

Answer any four questions from the following
Ffeies @-@FF 576 emE Tea wie
Gl IRACT YeABwdh] IR (GBI
2. Examine a Role of handicrafts in tourism in India.
ORICed A ZIHCER SRR bl 741
IRAHT GICAT ERISIS! JfHdT Sifa e |
3. What are the positive and negative impact of tourism?
G4 3BT 8 (ST deieE [F & ¢
PRI B ABGRIAD A ABRIHAD YHAES & & G °
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4. Write a note on the importance of tourismin India.
SRS 2G0T @3 SNCE 4|
IRAAT Riewrel user feunl aega |

5. Write a short note on Eco-tourism.

23S A Boia e Kol wis)
gafaRer wierell BieT foueft oy |

6. Briefly discuss the role of two major religion sites in tourism development in
India.

SIS 7GR TR UG 4T ZIC G STl 7491
ARADT Tded [APHAT g3 UqRd o1fe WIagod!l JHel aR dergdr ==
‘Iﬂé q |

7. What are the difference between international and domestic tourism?

AT 8 (R #RGCTa STy #A19 1 9
RN 3 IR e & & A= © ?

GROUP-C / fastal-at / 3gg-1

Answer any two questions from the following

faferiie - 7f6 et e e

F1 ggaCl UeESd! IR Qg
8. Explain the role of tourism in creating employment and income generation in
India.

fcIst @ SIeE Teot &3 SiRce #1Geaa @eg bl 741
IRTAT AR A M ForaT Tfed! i e THe |

9. What are the factors affecting the growth of tourism in India?

ORCe ARG Jarce TS Sl 4
IRAH] WA b g9Ifad U SR&ES & & g °

10. What isWBTDC? Explain the role played by WBTDC in tourism development.
AR 2B T K & ¢ #16 Taace wifsam 2RGw TaEe SREA el SACEAsa
4

WBTDC w=&! & 8l ? Wied e WBTDC o fHafes el qffer amre

‘Iﬂé q |

11.  Writeanote on any two Archeological sites of India.
©IACS (@ (14 716 &wog (Archeological) EF T S F41
ARABT Tl Gsacl YRIATad RIAeSArR] fewofl eRefaiN |

X
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